EANRAROBESIFRT — 2 N—ZABISH—F 201453A3H (B) 13@EIiE1H

mﬂﬁ%—ﬂﬁ C1mE B R
[A&4£] 1 7% :1,200,000 @ ~ 23 :360,000 @ 33 :216,000  ~ 4 3#&:144,000 @ 5 7 :120,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A P B FI 2 :40. 74~ . — FEHARE GEF)
T KNS # 5 Py 1(45))5 7-7-4-5 | 38.3 3 (4_550) qul#
LTAIWRTy Y2 B:Ra2—"51H HEKS
— N [inpe ] 140. -1-1- . - SRAE— (IE
AR i P | i O 56.0 1(34/%6 i) 8.8 6 f;) AR
L:x142ag Kby Bkl /Xxv > B0
FEILTLHEY R # 5 ?ﬁ)it 1(:14/02.>7 2-2-2-1 [88.7| — 1 (4_936) ggg% )
L:77)—h~ BZXAANILY A B MR
== FikrEE : -8-9- — NAAZ (1)
ML S i 5 el 1.(410).9 8-8-9-7 |38.4 2 (4:329) IS
R8> ThT— B:T7—ENNFO INEERY =
TSy g INT IS #5 | [ISEAE (11:411/.22) 56-7-8 |38.7| — | 4 | 444 gi%g (#a5)
QRTART I B H = 8 |55 -1
\ . N RER 241, 46— X = igEE (1
6lsl7|vy7Fvez 5 | BER o | e ° (4917) HlllE
RTTATFa =TT BHIF—<ALTF« RO
o . 4t 8 | EAXE 1:41.5 9-9-8-9 [39.0| — 11 513 | fE2 AR (1)
71814 EV A4 56.0 (3/4) 1) pil1):::2-274¢
R:7HTF 4R B:XI—ISR B/l #E
o A : 55— — EZE (118
gl7l11| EAUT— R i 4 L 1(.14/12.)6 6-5-5-6 | 39.5 8 :77% i
R:74H0 B:eHUT—%1— M7 7 — L4
. - N HEXEH 142, ~3-2- . — ez (118
o o| NfU—E—2 4 4 a5 (1241/21) 3-3-2-3 | 40.1 7 <4+338) fiesent)
RTANET Yy B:YzZ7U-—%4 Yy e LS
s 5 | RES 1:42.1 10-10-11-10{ 39.2 | — 10 | 508 |f#E2ATh (fafE)
1] > PIRGEAK 2540 F) Gy |8 77—
Sy ET=b EiEFrIJexd= /A BEE
oy = ssn ATHER : —12-12- — R (15
11 glansrFevr i 6 el 1(_3%2 12-12-12-11{ 38.9 9 (4_778) i ha
L:7¥C4FaLaNMEK B:T7Y—L Bliikae]
N N HHIR . —-13-13- = HHE— (1)
ol Tr1ar7m- o4 %5_% (12.412/.27) 14-13-13-12| 38.0 12 (5_019) i
L:—A7O— BAY /AT T7=— KIF R4S
R . el F A 143 —-13-14- . — migkm— (I
1alglial T Tz B0 o7 151-03‘5 1(453)7 13-13-14-14 38.9 13 ;1_913; A
L:OM¥IYIZX N BT TR TA b HR= SREKS
¢ ¢ . BLiF :46. -11-10- . — NAREZE (I
14518 JJNA/8)ba— R 4 4 A (19{(6@%) 11-11-10-12| 43.3 14 (i??) L
L:77U—h B:RY—LFryi— BNILAKS
® 1—F—@EBIERL
13=2F= 12,6,9,7,5,11,10,4,14,2,8,3,13,1
230—+— |[12,6,9,7,11,5,10,4,14,2,8,3,(1,13)
== 12,(6,9),10,11,7,5,14,4,8,2,3,1,13
43—+ — (6,12),9,7,10,11,4,5,14,2,3,(1,8) ,13
[ N5
B OB 10 450M 714K 10-12 1,040H e E 6-7 1,420 JEE 6-10-12 3,970/
B B 10 1609 6-10 480M e B 6-7 1,960/ EH 10-12-6 22,680
12 250 6-12 970M B & 10-12 3,210
6 170 B H 10-12 5,660

ABICOVWTRDTEEERROODE. TR LIV,



